R R BFEABAT L FEMEA (FAEE) AL A
FRml @ ¥ TR B RA (Wﬂ)
#8 : %iﬁﬁ(iﬁ*ﬂ)

x & Fg

(1) ARMAFSRE- T8 SRS EA T MSMEM MY 2
W+5 0 at—a% - s

| (2) HRAM S LS RHEE B AR -

—BHF8  (F8=5)
1. 3% X £ b6 £ SuBf(product tree) & TF » HFAA XY ~Z-W
é’J%H%’*#%(MRP)E #F e

X
Y) z(1)
w(3) z12)

& o oom | vy 2] 3] 4] 5

® 4 X £ F X 20 20 5 10 40
REXRE 30

A EAFR C 1 8 REFE 20
28 R A
HEITREKEF
HEIWEHLE -

£ E R

REXRE 40

RAEGFGE

#E R

TETREKEE

HETERLE

£2EXR C

REXRE 100

RAEFE 20

FE R

HEITE W&

HETERE L

2FR

REXRE

REFE 20

#E R

HETEKEF E

HETER LT




1 A (A0 (B)10 ()25 (D)40

2. BE 1M %M B= (A) 0 (B)20 (C)60 (D) 80
3. BE 183 C= (A)O (B)15 (C)40 (D)70
4. BE 18 #H D= (A) 0 (B)90 (C)150 (D)210
5. HRTHNEMNUBREARETRAF TN E T

5 & =
100

104
110

n) ty= 1Dy Y y-b)t

(A) 124 (B) 127.36 (C) 130.66 (D) 133.43
6. BE SR FH b=

(A) 3.87 (B) 4.63 . (0)5.14 (D) 6.82

7. BERENGHEHOBAERERE TELTH > HEFHHA 60
BROAZBRER2 B b TR AENATEREA3 X
ITHYENA R wR NI HRFBAKEHE LKA 98% » MAITH
5N 5B AE 60 By sbiEmA 0 FHir R

27 :Q= 4 (OI+LT)+zo, VOI+LT -A

3 8 ok 4 k) 69 4% 3 & P4 (protection interval) 2 457 ?

(A)2 % (B)5 % ()7 % (D)9 &
8. HF TR FRZMHTHREE A

(A) 492 (B) 522 (C) 532 (D) 562

6 A% 2 R




9. i/\ FAEHFAEOQ 8 R » Zd) X atehyEaA T4
FTRRMSME R P38 A 160 BE » 2R E A 6B - sb)F)
&ﬁpﬂ»:@ 300 R - X A e BAB A F - BRI 1 £ 1,999 18 F 4
5 BEMA 9 BRITHE 2,000 £ 3,999 B E fueF B BLA 8.S
7G5 HRETHE 4,000 BER ALY BFEMAE U T X At dy
RABEXE3IS L MEEE éﬁ##%‘ﬁki‘»%#ﬂcﬂ%ﬁ#%é’] 10% - st 4t >
TEXAHWITERRHNOEETE M EFHHAES K BRE
Bl1X > mZNaESFaHETRRS 2% -

— s -2
j2 % : ROP= dLT +z\LTo2+d o7,
FE Rt 8 X a6 EOQ(& BT ) A1 7

(A) 2,049 (B) 2,191 (C) 3,000 (D) 4,000

10. 45 9 R sbnad] X A ey FE B RAGTFA R A HiTH R A ik i
R A) B AT 7

(A) 386,020  (B) 385,737 (C) 409,690 (D) 433,739

11. % 9748 > b3 X a8 ROPGTHE ) AT R 69 E) 7
(A) 960 (B) 1,129 (C) 1,334 (D) 1,432

12. %98 b nd) X AR 2B EAT(GE Hi&:ﬁ&:iéﬁﬁ) !

(A) 0 (B) 329 (C)374 (D) 426

13. F 6T/ — T A FE EHRITFE ZH T éﬁﬁﬁﬂi}ﬂﬁ(processmg
times) & E & | 8 #A(due date)de F & AT ¢
T4  R¥ERRE RKEBH

A 3 16
B 2 8
C 4 12
D 22 40
E 15 26
F 11 30

¥ 6 A% 3 R




HRRFRXEFE(EDD)R BT Z T T RIEFIRSF » B sbdk
#£% (A)A-B-C-D-E-F  (B)B-A-C-E-F-D (C) D-E-F-A-C-B
(D) B-C-A-E-F-D

14. 3% 13 88 » sbHE£2 39 % A 05 ] (average flow time) 4
(A) 24.83 (B) 25.50 (C) 29.17 (D) 33.40

5. AmERERAALNGNY AR — AL SMAELRE
8 B &9 B #H e T ATOR
o

— _
> | 6 | 7 ‘ 3
300|280 280 (250 | 220 {2,000

] A RS Neaes
YEREBBRRAERT -
EFEHEeAR 2 U/EM PBERFRG AR 3 U/ EM
gh &, . 4 U/ B A
7R . Y HE—8EMm - H5—EA A 05T
RAUITE BB - F—EABH 6T

EELEAZHE —BARLEYRRALSHE  HUREEFRTAK
STEHFTXBEERRYGIER - sbib » b E SR E SR A
BMAGREWESA 0 BATS 8 A 25 £ 2B o) T A (full-time
workers) * A ASEAEAE 10 EMAE S - HAZEBERARAT
5| 4845 E) o

ARG E T 190 210 270 300 280 280 250 220 2,000

ha g:= 3 L0 W 250 250 | 250 | 250 | 250 | 250 250 250 2.000
A H-faR1E ] \ -
by

i S I
B K 0
' D

7 3T

6 A% 4R




%%’ Fﬂ‘i A=
(A)O (B) 30 (C) 50 (D) 80

6. 8% 154 » % B~

(A) 0 (B) 30 (C) 55 (D)85
7. B8 158 > 37 C =

(A0 (B) 30 (C) 45 (D) 85

18. B8 158 %M D=

(A) 0 (B) 30 (C) 45 (D) 85
19. % 1588 $HAEERA =
(A) 135 (B) 270 (C) 405 (D) 540

20. #% 5% 157 FRFABITERA =

(A) 0 (B) 180 (C)270 (D) 360

=~ P &M 8Ny
1. Define “effective capacity.” What are the factors that affect it?

2. What is the purpose of line balancing? List five methods that can be used
to solve a line balancing problem.

3. What is the difference between ERP and MRP II?
4. Describe the following priority rules:
(DFCFS (2)SPT (3)CR (4)S/0

5. Describe and compare process layouts and product layouts.
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